AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2011
Class : IV
Full Marks/ JPi X=b /a]f}

Time/a]" : 2 hours/ HAi; Xfi[| f (30+30+40)=100

General Knowledge / afllp»S pieX / aQWyg[yS pUQX

=

"OLIVE", "PAGARIA", "SPICE" are nhames of :
%1\, YoGpm'Y, &g+l Y0V 1E3 ?
C, YiGo(™y, &g+a vEidal) X(] ?

a) Chocolates b) Television c) Mobile Set d) None of these
JE#& 0 IR a] [ie+_ aZieX AlC Xen
JAERA 00 fir X alofie+ &Zick AEHIC X~
2. Thetitle" Karmabeer in Assam was given to :
%a]»E U» ‘YQXWy XV"Q ik ?
%cad] "ETI [ =Yoll EircedE VCA; ¢
a) Laxminath Bezbaruah b) Goplnath Bordoloi c) NabinCh.Bordoloi d) PhoniSharmah
@i Ua[L[»3/4 aGQY X@U Ve X[IX RV [j»Ve_ s e
ou AL ffing YU [V XX I8V [ve_ 7S e
3. Aung Sun Kyi, a pro-democratic leader, hails from :
GSTU[y@VY iXTi Yog-Jif Ef EYaE@X AV » 7
GSTHUi[iv! &Xy! Yoce al Eil &EX VA~ [| 2
a) South Korea b) China c) Myanmar d) Libya
VKNS i JiX J [ [ s
VIS i [i"y i TeXJeli O
4. The Head Office of Asom Sahltya Sabhaisin:
%a] apcTh a\ip» JF1E™ AE'TI?
U ]ach|a\[ ]F|E N ERUR Y[ 2
a) Guwahati b) Jorhat c) Tezpur d) Pathsala
m3lefiTi e ATLY»Ti Yo cTi
MRl A6 anLY[ Y, ¢
5. Bord0|ch|Ia is the name of a:
[»erJ
"8V ( Fip 60 oF) ¢ AR YER] o
a) Storm b) Bird c) Hillock d) River
e Iog 01 g XVl
i Y(FI i ¢ XVi
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6. Ricketis a disease caused by the def|C|ency of Vitamin D. Which part of the body it affects ?

A TX D> %NIET! dcgdly "3 a[] » ([l Ve dEiCK %e™ Th Oacy(]S Ei» ?
Qi ]X DA] %\ a[cC" RENE 4G ~ [ 4Eix %e Yyl c"7

d) Blood
aniL

(g

Bhutan Bangladesh, China & Myanmar

a) Skin b) Hair c) Bone
HEf I el
HEf N el

7. Assam has international boundary with :

%a]» _GTi 4ERX &V » gL piTiEi ]Qae G?

Yrad] [ a aU% TIE alok; ae_G 4EiX 4VA ™[ ?

a) Bangladeshonly b) Bangladesh&Bhutan
[ite_cdv™ [Ie gav %) \iligK
[ite iV [ire_cdv™ C \iieX

c) Bhutan, Bangladesh & China d)
\00X[ e (V™ Yopd JiX \ieX, eV, JiX 9ol TiX oo

\iX, e aV AUeJ X, [ aV XC T

8. The largest Bank i |n Indiais:
\pTi» [lew] i[JeEi ¢
[aT[a[ 4T [ed 4 f-
a) Reserve BankofIndia b) State BankofIndia c)
oL\ a[eE i 9% i aril di6Ed %% +44
([ILON a[jd %6[) + 2000 [ja Y%[) +";

9. InlIndia, postboxes of WhICh colour are meant for mail to the metro cities ?
\@»TT X » 1 QEA[GES a]® Iet XG»T aa3/4»[a[ [i%ce» ¢ 2
NiJATi aEieX [ie A[l aY°0[u aaile ~cAll QeEd YoPaXe[) LXT [fice[) Ei[ls ¢ ?

= X+a0 01 418 %[) "

a) Red b) B]ue ) Green
i X¢ fa=LI"y
b X_ aflL
10. The planet that has the most number of satellites :
dEirX Ge» Yoqld (+TEES %XWyE i aeFiE) =YGe: Y%rdk: ?
X Gac|| afllc+aTi &)Y =YGe: Y6rak: ?
a) Jupiter b) Saturn c) Earth
[lc&T X Y%
[lc&Ti X Y[l
11. Pankaj Advaniis associated W|th which game ?
YL %V[iS! Ei aF » T LQiTi ?
YAIL YorV[cS! AEiRX &F o[ aci LQITi 2
a) Badminton b) Hockey c) Billiards
aUng X CEil Qi
d[100iX CiEd i

United Bank of India  d)
X000 a[eE i 96% +h'y

d)

d)

d)

ICICI Bank
Yngr. . 9. i Y+, [fE
%+, ra. Y6¢t. 1. Yot A[ja

Yel Iqw
ey
¢V

Mars

IT_
IT_

Tennis
#iXa
#iXa
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12.

13.

14.

15.

16.

17.

Nobel Prizeis givenin ...................... number of categories

(B X0 ([0 T aXell_[i0 (i c"7
X[ Y[ o[} YeTd [Ka[) VCAy; ¢

a) 6 b) 5

©)

c)

4

The literary character 'Pip' created by Charles Dickens is from :

- J) 1QERay xXx]T oy Y'Y AERK =YXTtaTh 8l AN ?

2 QidERa art By YY" 4K =YXTtda YeCry A 2

a) Great Expectations

260 AgaYaki™ XK aQX\Q Yoz Q
260 AJaYE0 " Xa 100 E [yxZ

k? is the other name of :

ke» %K1 X(] 1B ?

ke XIAN[) AEK Y[ITC At %Y Xc] 2

a) Kangchenjunga b) Chomolungma
EictIXLIH; T_¢e]e
EirtIXLIH; J_ele

Buland Darwaza is a part of :

"IV V»CL@ XEc» %e ?

"L V[ICAeL" XIT[) aEiXai[] %™ 2

a) Red Fort b) Fatehpur Sikri
(R ZETiCY» ) xeyO
0 8K ZETICY[) raryl

The longest Beach of India:
»T»VYHT]a]V[ (Tiv) ¢
\G[&TI[) afjic+aTi [1Qi a]V eakiTi

a) Kovalam Beach b) GoldenBeach
BN, (] [ G- QX [l

The word 'Tsunami'is a................ word

IV AERK VIR~ E 7

"aXp]" AEI) ........... e

a) Chinese b) Japanese
X X LoYeX!

b) David Copperfleld

Oliver Twist
%1 \ip» (itri
%t \ig[) Qi

Sagarmatha
aiG»]U
aG[]u

Agra Fort
%iG¢ VG
%iG¢ VG

Marina Beach

]Sy [ 8140 [

Sanskrit
aeeil|

d)

d)

d)

d)

d)

d)

Our Mutual Friend
Yogtien X]=Ji%_ #Zith
YoCr[) ]=JN ez

Godwin Austin
GQi=+X YorriX
GQi=+X YorriX

Qutub Minar
BT Xe»
E

Juhu Beach

L8 [l

Latin
3 (X
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18. 'Chetak’ was the horse of

BITIED e

19.

20.

21.

22.

Hoot Yok *

"WITE Eif M KT

a) Shivaj
Al
LIl

b) Ashoka
%8¢
044~ G

‘Makar Sankranti' falls in the month of :
JEi» aeylli AKX JecTi ¢ ?
"1Ei[) aeyldi' aEiX Jeda o ?

a) January

Lok

LexAyfl

Gorkhalandisin:
AGOFEA i dERX YAV T ?
aGeFea Qi 4ERX YaVA™ ?
a) Himachal Pradesh

]l YAVCTI

ic]ed Y&V

Complete the proverb :

"A bad workman always quarrels with his

ZiEing-a\ L Xca0k afYS i f

PO [ — a[JEic

Y [Jevi0y afYS Eif| f
XCORTOXG LOXE [IcEic>

a) Employer b) Varanda
Ooifdl [ooeVe
I B (AL

b) April
AY _Ti
AY

b) Bihar
[epTi
gl

The Olympic 2012 will be playedin :
2012 X Y%t YE 4G]K: Ei'T) %6XuTi ¢ ?
"o YE) 2012" dERUL ¢ f
a) RioDe-Jenneiro

%, 1Q-AL X CTi
([IC Q1 ALAXA[wAT:

b) London
XTI
i

(4)

c)

c)

c)

c)

Maharana Pratap
Joois; YTeYo
JoskSs YTiY[

September
@JﬁéSﬂﬁ»Tﬁ
aad 0|

West Bengal
Yidi] [T
Yr 5[t

Tools
BTl
=PiX

Kuwait
Ei+a™NiTi
ERTI

d)

d)

d)

d)

d)

Himu
XC%] »

ll

October
Yk Tt
[l

Rajasthan

LK
(L X

Colleague
acEi]p
acki]p

Glasgow
GikaCe T
GradCeaTi
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23.

24,

25.

26.

27.

28.

This is the picture of :

K a0k, *Edc» ?

Ke[)p00 +Eddal) ?

a) Shera b) Appu C)
Y %Y
Al Y

The disney character Cindrella's shoes are made of :

QILX! X ] T Jiovy ki e ALcTiy 1EfdcE» X/ T Oapk: 2
QILAX Juty "vaXaQu_c" LATi £ (VA" [jcXeaX;

a) Wood b) Velvet C)
Ei NN
Ei NN

The world's first Umversﬂy wasin :

Yildi» YUT A [vie %@xK 9

& [ YUT v "aE Nk ?

a) India b) China )
\ip TiTi JXTi
\ig[iT X

‘Jiyo befikar' is the punchline of :

LAY, a[yxz " (Eie» 2 QGQX’?
"xLa" [V ZiEi[}" Bkl (G

a) Tata Prudential b) BajajAlianz )
YQ iy [iLeL Ar At
aQuana" [iLcL A @t
'‘GAUD, MITHILA 'KAMRUP', 'SIFUNG' are the names of :

aG|Q X]XU EiC]»lY, KZie g 1Eic» X¢] ?
GIQi, \JU_c, ][0V, aZie 'Eidaf) X¢] ?

a) Places b) Districts )
[N~ Pigt N~ L g
([N~ 0k [N~ AL Q

If CAT is to DOG then FORKistO ................

cAT M DoG ¢/, Tl FORK €[] wvumnininen
cAT ™ poG ¢, Th[) Fork Eil ¢f[) ?

a) KNIFE b) GLASS c)

Stumpy
riefY!
Tpfy

Glass
Eil
E)

Greece
GIKTI
Glda

Aviva Life Insurance
96NN LI 1]
%t X\ LIX [1Te

Tralns
x[yx\ a»
(N~ 8K

SPOON

d)

d)

d)

d)

d)

Rongman
»]X
[e]X

Fur
ix(]
(]

ltaly
Hiy_{To
g AT

Tata AIG
0ielic A%%c+L.
0iclic A%%c+L.

None of these
AlI.C Xe
AERC XM

CUP
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(6)

29. In the children's ryhme, what was Humpty Dumpty ?
£ YVITi Humpty Dumpty A
#¢ORV]) KQi™ Humpty Dumpty AEQ

a) Egg b) Potato c) Tomato d) Mushroom
ES! % e Eipizi ¢
Q] %, LD Kyt
30. Find out the missing number 612171313
Foe Pip+Ti B9 aeFig ') ? 215 191613
~Si fiedX asPiED aeF; [jagC f > 1
a) 8 b) 6 c) 9 d 5

General Science / aflipyS x[pieX / aW [ [

31. Which one of these refers only to living things ?
Ti» dEQO[|_GAED 8E%, LVWED [ILgik: 2
XYaJ i) aEirXme 8B L[/ ™ 2

a) Cloud, fire, river b) Fire,river, tree c) Bird, tree, worm d) River, bird, tree
Qi L, XV L+, XV, GK Ing, GK, Ei] XV, Jingt, GK:
aJH, %; mX XVI %@mX XVY Gik YO, Gok, ryir] XVI, Y¢F, Gk

32. Reproductive system helps animalsto .............

Li» YLXXYYPeHs act” Eifn*

L3 YLXX Yyl ... acy" E[*

a) give birth to babies b) digestthe eatenfood c) circulate theblood d) walkandrun
allgX LXOVAT] FoVi L] EiwTi sND I G i L ERL o] Vgl
aligX LX: YCATI FoVi [0 cL] EifidTi [INbJ GIa Ce0iTI Alle aViQidTi

33. Plants get the carbon-di-oxide fromthe ..........

it L — » Yot EE[X Qipt-%J¢+0i GCS Eidn*

= aUaE fo[X-Qic+ Yo ¢+Qi Ge:S Edd[*

a) Soil b) sand c) leaves d) air
I [o_ YiTi g
I [o_ Vet [
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34.

35.

36.

37.

38.

39.

(7)
Living things die if they do not have .........
XEC»%\[ﬂ [» T 2 ?
Eilga) %o\i[) LIE[[ T ¢ ?
1. Arr. 2. food 3. water
[Ip FVi YX!

(A [

a) lonly b) 1land2only c) land3only
i 1 B 1 %0l 2 aE %1% 3
[ 1 il 1 Alle 2 il 1Al3

Which of the foIIowmg can live both in water and on land ?
i » $EXa Yox! Yopd Jo0i =\4T: [ra EX»[ (v
aJ[yaE 00 LA C Jp0@T [ja ERATE Yed[) ?

a)‘ﬁ%ii’ by &

Which part of the potato plant grows into a new plant ?

%;_ GK» aEgXaOg%e XTiX GK_ »OYQU»C"’)
%, Gk 4EiX %e™ XTiX Geak: [RVelifj ¢ 2

a) Root b) Stem c) Flower
Y Eigh Vi
] Eigh i
Which of the following can not prepare it's own food ?

T » aEgXaOga% XLy FViXEL 6Te »EX»UaX%a»')
aJ A X0 AL [] PV AL T EIAT Yed[j X; ?

? K b) c) <Y

Which of the following animals has no teeth to tear its food ?

Ti »aEQXaOQLU»F\fXKqu[e api] " (B »V )VgT Xi+ ?

XTaJ]) 4EiX L) Fefie]) Qi FeCAel dEicaXp Vi aUaE 01X ?
c) e :“\

a)% b) &

Which of the foIIowmg help a bird to fly in the air ?
T » aEgXaOga% b +E -X»[ aci" Efd» ?
aJ i a0 YoFIaE: =QidTi agee™ i Ea[ :

a) Strong claws b) Sharp beaks c) Hollowbones
NI cydipng ALl & ézﬂﬁcéYg_g ¢(Q)
Nt Uil Wgfiea_¢ 2P0 ZiYe ci)

d)

12and3

1,2 %) 3
1,2 A3

d)

d)

d)

d)

d)

A

Seed
L
[iL

Bothb &c

b %l ¢ =\ b Afle ¢ =\

R

Legs
e
Yt
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40.

41.

42.

43.

45,

A bird is different from a bat because ............

J@ [i0Vx_ TiER 8[3_G, Eip»S .........

oF! (V] GUBED %:_qVe ER[IS.....on
a) it can grow b) itcanfly
on [0 M +=mf) Vi
oy i e, 1o =QAT Y[l
Water proof feathers are foundin ................
................ » YQXF Y@XYT | XTIRTE
..................... Yo Ei LA AL X
a) the ostrich b) the swan
=6 YN »LC{C:
=B YN[ [Lcta]

(8)

c)

it needs air d) ithasfeather
HAGED [ YELX 0 Yo Yk
g [ YasLX 04[] Yo _Ef hcdke*
the penguin d) botha&hb
YT+X a Yol b =\I"

Y X a Alle b Vilip+

Which part of the plant carries water and minerals from roots to other parts of the plant ?

=iV i gXaOg%e + YOXI Yoro) XL 9S " Yow Yo X7 %e™ ¢ Eif C3/4g acq"Ea»7

=1aAV[) 4E0X %™ L_ Afle FIXL _[|ST__ 4UAEi 9X7 Yoed™ 1Xan #M4Ti ay

a) Roots b) Stem
Y Eigh
]_ Eihi
Find the odd one.

%] 0% [ =1 Ch; £

%] —W[XO i[jaK: X(C f

a) Roothalr absorptlon
B CYe-4(hS
571 -80S

c) Stem-grow towards light
E"@%a ach»»Z@ [l ¢
B - Ygh_ VRED [

. Which of these will grow into a new plant ?

Ti» dEiRXADig XTOX =baiVé_ »lYeli» ¢ 2
aJ i) 4B XTIX =iV [Vl ¢~ 2

a) Afallenleaf b) Afallenflower

Ti an; YeTi Ti anZ)

Mifje Y¢Ti Wifl; 20
Worms and small organlsms grow mostly in ....................
iY_ %) IV Li%» [ — Ti ¢/

I L T — o

a) Sub son b) Top soail

D% JwiEd; (\iYE» To » Jo0)  \i-Yei Jod

Og[ ]y \-Ys

c)

b)

d)

c)

o ER[) ?
Flowe rs d) Buds
I ERY
Vi EdQi

Flowers-reproduction
Zi - YLXX
Zi - YLXX

chlorophyll - respiration
Yyoid - ~aX
Yyci[d - ~aX

Afallen seed d) A buried flower petal
T an [iIL YT aU@%p Y@

Wife [ YATi [igFe YeYQi

Bed rock d) Al ofthese

i oqlic +AE+0g

i a[Eiy
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46.

47.

48.

49.

50.

51.

9)

Most of the fertilisers are made of ..............ccceee....
Y0 o » ¥pu, ORI
AT [L1 1 [ — ¥[lc GRTI
a) Carbon dioxide b) Oxygen c) Nitrogen
Ei[)X Qc+-Y6j ¢+Qi Yo gaLX X(HIALX
Which of the following is an organic part of the soil ?
Ti » B0 Tt L3 =Y(VEX 2
XIAJ[) &EieX: Tooi[j eL[j =YeVeX
a) Cloth b) Stones c) Plastic
EiraYo» " YouiEs
Ei YO Y[ YouiEs
Which of the following is not a form of water ?
Ti > dERXEDR YoKl »Y XeA ?
aJ[y dEIXE LA [ aEieX Y X2
a) Steam b) Coal c) Dew
[y BN ¢ E |
[y Ei” ¢ AN
Which of the foIIowmg is also called monsoon season in Indian subcontinent?

Ti » aEgXaOg »T =Y oV T 8]0 @Ti eia LXg q"?

aE X @TEES \g[To =Y Jegdva™ 8]ia]! @Tocad]) L

a) Summer b) Rainy c) Winter
GIt [ib M

Which of the foIIowmg is a source of heat and light to all living organisms ?

T » aEQXaOQaE L% [ia]] T Y Yl 8Yeeo» =da ?
a[[LX|TYA[ e % [ dac+ f
a) Wood b) Coal c) Sun
Ei) EiM ¢ i

WhICh of the foIIowmg is called the Gateway of knowledge ?
R aEQ YeGED pigX» Vil ]F[ X ""7
~[1A[I) #Ecx %eGaE IeaX[y Ya[ Wi
a) Body systems b) Sense Organs c) Legs
ol Tl %X N\iTi %6 \in»
[T %X \iTi %'t Y(

d)

d)

d)

d)

d)

d)

Water vapour

LA [y

Humus
xce:]QKé
xce:]Qa

Snow
bz
[[zi

Spring
[lall

Moon

v

Hands
c{Ti
c{Ti

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)



http://www.novapdf.com
http://www.novapdf.com

(10)

52. The main aim of giving firstaidis/are .................
Y(U'Ef doidagy ] == TECHK: ...
Y(UrJES bEidagf| ] == Tc_f

a) topreventfurtherinjury b) tosave I|fe
O0gHeTd [ avgl B LI%X » 1 g @
QogHeTi [0 [ille VCA LIX [edia

c) bothaandb d) None of these
a Y% b =\ AlC X
aAlle b=\ AEHIC XA

B3 Ilght is used in traffic signals to stop the vehicles

BipeZ0BS JIGXG TiAK-[I60X R s » 1> aedEdTi [ [y%cg» Eiwg ¢/

BipZiEd xaGXa "X[cXU]aX[ LXT o [Ie [i[icdT) ¢

a) Red b) Blue C) Green d) Yellow
i X ¢ fa=LI"y o¢ i
0 X_ alL ¢V

54, Sunllght keeps the rooms dry and free from ..............

a™ acha» S AOGED £ERX %0 . » Yog » 1y E(Ti acy” Eifn*

al™[| %cd_¢ AESO) H[AED £50 ATIE o AUAES [ipdia™ [oFaT) agee™7 Eid*
a) Dogs b) Cats c) Rats d) Germs
EiEi» ] Ei»l AN» [IILgS
EIEd[) Qs H[i [iILgS
55. The types of clothes we wear depend on the ...............
i formt fafem wqeiq FolT ... 7 @2e 67 I3 |
YAV YOAX N WAS[) EECYQ e =Y B
a) Season b) Climate of the place c¢) Occasion d) Al ofthese
am %f_» L_[" i[IA" b %X DoiHAE{ig
ot %t [ L_[1" i[1A™ b 96X EaX | a[ ek
56. How many meters are there in 5+km ?
54 1E) x]T xE]Xx]O i ?
54 EN]ATI BT ] U [
a) 5250 b) 5555 c) 5000 d) 5120
57. s |s avery useful communication medium for the people working in the police and army.

Yx } Yol 6t [ X Ti JiEior Eiwg JoXGe: [Rice Eb %(Ti VEip! aedG [l &K ...
A[eaaX i\ aGJ [ []Xab[y’ OiTi V[IEG[ [0 ¢ f

a) Newspaper b) Wirless communication c) Television d) Telegram
[I¢Ti EREATE %X Tie» aed™G VsV X firGe]
ae[vYy a[[Ti[| aedG i NiTX alir Gr]
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58.

59.

60.

61.

62.

(11)

......................... is the amount of matter in an object.
[0 A Te UERG YVEU» Yoo JeaX+ 6caK: o
AEDO) [108TH Ugkde YVeaU[j YIS ¢

a) Volume b) density c) Mass d) Weight
OATIX H \wN\]] CLX
Which of the following is a plant but can not make its own food ?

Ti » aEgXaOg-xaaV XLy FVi XL 6Ten »EX»[ aX(ied» ?
XYaJ[yaEg =iV XL [| FoVi oXaL 6T Ex[iAT) Y aUX

| AR
a) b) )

Many plants wiltin the summer because they do not have enough .............
GIY, Eir_Ti [184Tip =@V &_int_ "@" EipeS A+ =@V 1 cEITE QUK Y ]S o X(UedEr™
GYl E"@”_ O6aXED =1aiV RiA_ YaQi ™ Eig[)S =4iav MU YX[y]QaS ................ UcdEd X¢*

a) Flowers b) Water c) Heat d) Leaves
I Yex! TiY YTl
il L TiY YTy

General Mathematics / agW‘,q»S GiSTi / aQWVQ[VS GISTI

Which is Iarger 4 or 3
" %Q» Ly i XaOQQ ch» ?
1 Alle 3 A[) JallT aExx0i [0

a) T b) 3 c) Can notsay d) None of these
Eifj aXQ%QX» AlC XA
[ &T0 Yo X AEHC XA
How many small circles are in circle B ?

B Wi xE]XO anl [w Yecdk: ?
B [|Awr ETIl, #Ke [wn YocdK: ?

a) 11 b) 3 d 7
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63. How many days are there in January 2006 ?
2006 JiX» L§X3/4§» Joc0ic EFJeX WXIn; ?
2006 aX[| LeX[l Jeda EATi VX ?
a) 28 b) 29 c) 30 d 31

64. The value equivalent of 12 minus 3.42is ..............
12 (NG 3.42» 10X 603K

121G 3.42A] JiX ¢

a) 858 b) 9.68 c) 8.68 d) 10.28
65. 6min5lsec=.....ccccceerrrrrnnnn. sec

6 \]X0) 51 BKEEH = ............ #AE

6 ]X0i 51 4adEhi = ............. aadEd

a) 411 b) 421 c) 431 d) 400

66. How many angles are there in a circle ?
Al [jw» XE] X aEQ Yogak: ?
AE( xo I [JAw[) E6 0@ I 4ECK UrdEd 2

a) 3 b) 0 c) 6 d 4
67. Which of the foIIowing iswrong ?
T » dEiXa0e i ?
MU&M@\
a) 165 +5<165x0 b) 534+6>40x2
c) 5x70=70+70+70+70+70 d) 9563-5369 =4000+100+90+4

68. If 'ab'is any two dlgltnumberthen abab+ab=............
MV abr Vliy Y0eE8 ([ ri Alf aeF; ¢, iTili abab < ab=............

MV rabr Vi %eE B[ 1o AES XO aeFi; ¢, T abab +ab=..........

a) 101 by 11 c) ‘'ab’ d) None of these
AlgC X" 7 AEMIC X

69. When 978 is divided by 8, the quotient and the remainderis ................
978 Ei 8 & (G Eivd_, \QGZ %Q»O\@Ga Vo
978 i 8 VA" \iG EBiA_, \ikGZi_ Afle \itGa ™ ¢+ .....
a) 122,8 b) 120,10 c) 122,2 d 122,9

70. The least number among the followingis ................

T ToNA INVTH] aeFicllc 6cak: ..o
XGR[ aEUQXXOU IVTi] aeF|
a) 105x5 b) 105+5 c) 105-5 d) 105+5

71. 1000- how many tens =730 ?
1000- 'Ef]¢X VeEi =730 ?
1000- EiTi V' Ei =730 2
a) 37 b) 27 c) 370 d) 270
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72.

73.

74,

75.

76.

77.

78.

(13)

7+3X3-{(7T+3)X3}=iereeeeennns
a) O b) 33 c) 23 d) None of these

Ai,C Xe™ 7 AEXIC XA
What fraction from the following group of figures are triangles ?

T VA Wiy E1] X %e AL ?
aJ aVC" Wy me_[J EGTI0NEs %e ™ #y\iL ?

e

Amit bought two apples and a small icecream. The apple cost Rs. 10 each and the icecream cost Rs. 12. How much
did his meal cost ?

%6J4T) 20 0K Ve]» VO YoidY _ %e») 1.2 0Fe ]» Al vl %+JXy]y"EX»a iTICx» P Fdi XE]XC[
%] Ti 10 Uik a][VO %aY Alle 12 OirEf; a][AE iy ki Yoc+any(] (EIXE_ Tiofj af[&]40i F[ui E

a) Rs. 320 IERG MEf; b) Rs. 22 (E/ED c) Rs. 20 (EiG/cED d) Rs. 3406E6§/06§E6§

c) =2 d 3

Romen lived 15 Kilometers from Raju's village. Padum lived 25 Kilometers away from Raju’s village. How far did
Romen live from Padum's house ?

»a]X» Hy »{Ly» HwTigED 15 1E6r]. VnT) Y6p» YV]» H» »(L» HwTiE 25 1E11]. Vo Ti cd_ »&]X» H» YV]» HTEES XE]QX \»Ti ?
[RIXI H[) [ LA[} H[JAU3ES 15 €0, VA[ %[ YVE][ HI1 (e L[ H]i V3D 25 /&i]. VAT ¢ [R]AX[J H[j YVa][) H[) dU3ES EATi Va[) ?

a) 40k.m. (Eir].) b) 35km. (E]) c) 25km. (E]) d) 15k.m. (Eix].)

Study the pattern and fill the missing term :

Ti» Oqcd0n N VA» Jit Foe Pt Yo Eiog f

“XidieX YX Eif -
52
24
11|13|15]
5/6(7|8

a) 27 b) 28 c) 26 d) 25

Which number is 70 less than 140 ?

il aeF T 140 THE 70 EF] ?

iEirX aeFl 140 AU3E) 70 EF] ?

a) 70 b) 140 c) 180 d) None of these
— —— AC Xc™ AERC X1
' (x Oi») + (7+)

Qi
a) 1250 mi (] ) b) 10250 mi (1] ) c) 1150 mi (] ) d) 1550 mi (1] )
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(14)

79. The minute hand takes ................... rotations to move from 3 to 9.
3» Yog9é MCETI X0 E ................ [io» Hi[r*
3 Ui o YA a"aT R [0 [ = [Ie[y Ha[r*
a) 6 b) 10 c) 20 d) None of these
AXCC XcAEIC XA
80. The standard unit of lengthis ...............
OVH» Y] 0SED AETED €08K: o
OVAHI[) YC]oSED ABTED ¢+ o
a) Meter b) Kilogram c) Litre d) None of these
0 /0[] iEl. Gt b Oigw/ 1 (i) AXCC XcAERC XA
81l. 275x8="?
a) (170x8)+(5x8) b) (270x5)+ (5x8) c) (270x5)+(50x8) d) (270x8)+ (5x8)
82. 1f (MV) 200 + 4 = 50, 300 + 6 = 50, then / §Tili/ T[] 1000+ 20 = .........
a) 100 b) 50 c) 30 d) 20
83. 15+2%=........ quarters (AEf JITiUge )
a) 4 b) 16 c) 10 d) None of these
AC Xc™ AERC X1
84. There are 6000 sheets of paper. If Raju used 3250 and Gopal used 2000, how many are left ?
6000 'F g EiiGL» Yo mLa" 3250 1F ¢ %) §GYed_ 2000 1F Q [y”%c @» EX»a iE ]@X XF EXGL [iER UpEi) ?
6000 Tip EilGL. 8USE [l 3250 Tig %:[] 86;Y;_ 2000 Tiy [csfl B[ ERGL [ XE a[
a) 850 b) 1050 c) 950 d) 750
85. Madhu wants to change his 5 Rs. note by 25 paise coins. How many coins will he get ?

86.

87.

]Wa"T»SO A Xl 25 Y+l JVe» _GTia X Eiiwd anE]XO Ve Ye[) ?
10 5 QieEie]y AXo0h0i[j [VA_ 25 Y~ag) TVe @, EIToli TV Yo+ 2

a) 20 b) 10 c) 40 d) 30

765X0= ioiiiiiiiienn.

a) 765 by 1 c) O d) None of these
ARirC Xc/ /AENIC X;

The flgure given below has ............ number of sides.

T0VAG iyT) 68 aeFy &k ...,
aJ[ aVC" K AT [1e8[) aeF| CF s
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88. Perimeter of the given figure is

89.

90.

91.

92.

93.

94,

T ToVA Wiy Yoal ]
YVt WY1 YA[IAT]G s

a) 32cm (K] (#])

dem (s /@],

dem (e6:]/41])

(15)

dem (3] 5]

dem (] 41])

dem (] M.

b) 64 cm (#].) (1]) c)

How many numbers are there which contain two digits ?

VOic Yoo #[jxri TPi aeFig «E0]eX 0 ?

V+ 9eBEi[) &l aeFi; ETI ?
a) 10

b) 90

The greatest number from the following is ............

T Yol TEED Qicl» aeFically ecak:

X&) alJe+aTo [\ aeFig ¢ f-
a) 443

b) 498

Sum of the place values of 4 and 2in 9234 is .......

9234 Ti 4 %l 2 » BiXIN Tok» #4620
9234 A 4 Alle 2 A[) BXIn e[ #GZi

a) 42

b) 24

Which subtraction gives 102 as the answer ?

XA ([#NGZI 102

' —

X SEick OheiEi] (N6 1027

a) 100-2

19-18+17-16+15-14+13-12 =

a) 124

b) 200-98

b)

48

Which of the following figure has five faces ?

Ti_» dEiRXally dhy» 5 0f 1YOPi Oagak: 2

XIAJ[) aEirXi00 iy 5 Oi \YP; YocK:

) A

?

b)

c)

128cm (#:])/ (@1])  dyas cm (#.])/ (30].)

99

489

204

400 - 202

(Tree [o) woy

d)

d)

d)

d)

d)

d)

100

495

58 -44
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95.

96

97.

98.

99.

100.How much does the following book cost ?

Choose the correct one ?
£71800g [ipk: =+_Co ?
£ =w{jh [e] B f-

1.1 1 1
a) 2>% b) 2<%

(16)

The operatlon represented by number line given below s ...........

aeFlg a»F§+ XOIYX Eiog YoyIAG0l; cdK ...

aeFa[IFe™ ;XOOYX Eile Yoydo0h o

a) 12+6=18

0%x18=0

This will be true if % is replaced by .............

N S — [§%a_ =Y Y dli; ali of f
« WG] 0GiX, E5T0 [lac+d_ =YA[I[) a] Ei[X0i aTi ¢+ f-
b) xor(/OU/4Q)

a) +or (%U3/4§)

. 3
)4 b) %
1,1, 1_
§+§+3— ............
1
) 1 b) %

Ti » xETgYFX»V] xE]X7
XAl fil) [+ Ve] Em 2

\+ \ = Rs. 12 it/ Otk

‘ + /) =Rs. 16 (il 0tk

[ m— + '// = Rs. 10 0/ 0iGEx;
a) Rs. 4 (iEi/ Ot

b) 6+6=12

b) Rs. 6 (Ek/ E

c) xor (%U%) +

(9]
N
W

c) Rs. 12 (EiR/ Ok

XXX END XXX

=
X
w
1
A\

d)

d) 12-4=8

d) +or (%U%) +

ool

d)

d) 1

d) Rs. 16 (EiG/ OiEi
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